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#include <stdio.h>

int main()

{
int 1, data;
scanf("%d", &data);
for(G = 0;1< 8; i++){

if(i < data){
continue 3
printf("%d,", 1);}
return O;
}
A.0,1,2,3,4, B. 5,6,7, C.1,2,3,4, D.0,1,2,3,4,5,6,7,
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#include <stdio.h>
int *fint *a, int *b)
{
nt t;
if(*a < *b)
{
t=*a;
g = *b;
*b =t;
}
return a;
}
int main()
{
mmti=1,j=5;
int *p = &1, *q = &;j, *r;
r = f(p, q);
printf("%d,%d,%d,%d,%d", 1, j, *p, *q, *r);
}

A. 15,515 B.1,5,5,1,1 C.515,1,5 D.5,1,5,1,1
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#include <stdio.h>

int main()

{
int arr[] =41, 2, 3, 4, 5};
int *p = arr;
for(int 1 =0; 1 < 4; 1++)

{
o +i) =0
J
for(int 1= 0; 1< 5; 1++)
{
printf("%d ", arr[i]);
h
return O;

A 12345 B.00000 C.00005 D.02345
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#include <stdio.h>
struct stu
{
int num;
char name[10];
|5
void fun(struct stu *p)
{
printf("%s", p -> name);
}
int main()
{
struct stu student[3] = {{301, "A1"},{302, "A2"},{303, "A3"}};
fun(student + 1);
return 0;
}
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#include <stdio.h> I NVAT:

int search(char str[]); member

int main(){ VT
char s[100]; Please input the string:
int cnt; member
printf("Please input the string:¥n"); The number of ‘m’ is 2.
scanf("%s", s);
cnt = @ ;

printf("The number of ‘m’ is %d. ¥n", cnt);
return O;

}
int search(char str[]){

inti1=0, cnt =0;

while(| @ Y
if( ® "
cnt++;
}
i++;
}
return @ :

(fi#%15]) @O  search(s) @ str[i] I="¥0' @ str[i] ="m' @ cnt



